24.

@ aurLens asrflen Qurgs et 2,00,000 .15, erévevm euaimy.&(@hLd

em wresdneE 3000 4.8 20dpg. Qe 30% srfluns @HADL.
erfl@ur@mer LweTLn® @ I L(®msE 10 A.i5. DGD. @ Sl len

ellened . 18. geu@eum@y 100 eﬁLS a;@u: GrsmGlcmu_l LHOID @s7
Q&Guma;m@ 50 24 GD.

The sales and profit during two years were as follows
Year -~ Sales Proﬁt
4 S Re.t Y Re v
2010 1,40,000 15,000-
2011 1,60,000 20,000
Calculate 3 : !
(8) PIV Ratio
(b) .Break-even pomt
(¢ 'Sales required to earn a profit of Rs 40,000.

(d) Fixed expenses and
(e). Profit when sales are Rs.1 20,000. .
@rmwr@ <y @rDsEREsTar sl HLmen OO Geomud [GemeumLorg).
- e elpumer "@emLib
- Wip
12010 1,40,000 15,000
- 2011 1,60,000° 20,000
saES(Ha. |
(<) @eru siatey 50D
() B piwopp yaref
(@) @5 40,000 Qemuid FrLHib.Qumps: aﬁ]g}umm
(vF) @_emulu_lrreirr GeeeyseT WHHILD

(2-) efipuenan dp. 1,20,000 Q@Hé@D QUTS Gemutb.
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Time : Three hours . ‘ _ : Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questjons.
1.  Define Unit costing.

) @L&&;@Q}msb QUENTWIMI.

2.  Mention any two objectives of job costing,

q

Lenfl samsHueien Cpréatisaiie: gGaaib Byeme. @HuGGs:

3.  What is incomplete contract?
Qe QupT GUILIBSLD 6TeTLIS Wt ?

4.  What is notional profit?”

| Hemaney @emULh erammired erenan?

5.  Give the meaniné of abnormal loss.

BQuiey BHlw Ligapep BLL b Gretgen Qurmener H(ms.

6.  List out the types of industries using process costing.

Uigapenm e;mTé;}sﬁlmébm .uru_!eisruG\'é,g,ij Qgmifley
QuSEMET LIL 1560 (B

7.  Define Operating costing.
Qwés oI sselwed euamruim).
8. What are Iﬁainten.aince charges?
L]ljrrmrﬂillq SLL_GRITEIGGT GTamLIanaY Wifaneu? '
9.  What is contributlon? i
UhisafllIL eTemmmed eresmenm?
10. Write a short note on Temporary Shut Down. .

sosmallw apLe Lpd AniGHOL eropsis:

Hneuabsafe

Advonced  Cort  olecounting

B. Com | G

—
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11.

12.

13.

14.

Calcﬁlate actual output in units:

Input . : 10,0,00 units

Normal Loss : .5% ,

Abnormal Loss : 400 units

2 arenwwinest Geuafluil L i @Gsaiic sarsdlHs.

o diref( : 10,000 Si@@s6T

SMSTIFEAT ‘[bl_I_LD . 5% |

SIFTSTFGT BHLL_LD : 400 S|V GSeT :

What is profit volume ratio?

Qo oiere) AHsD GTEMTE) GratTen? |
PARTB—(5x5=25 markg)
Answer any FIVE questions.

From the following particulars calculate EBQ:

Annual demand for the product 200 units

Set up cost per batch " Rs. 10 .

Cost of carrying inventory =~ = Re. 1

Qeveupid efleugrasener Qareanh Hssan Agn@s sleranc samss(.

Qurpefler 6@ Caemeu 200 SiwGseT

2@ AsrEHudien smal Simwly dsee . 10

sr6® QUi Siésh @. 1. |

From the information given below prepare contract account:

Material bought from market Rs. 1,500
Materials issued from stores Rs. 500
Materials returned to store " Rs. 240
Wages Rs.2,440
Direct expenses Rs. 294

Works on cost 25% of direct wages:

Office on cost 10% of prime cost

Contract price Rs. 6,000.

60147/BPZ6A/
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23.

. Annual repair.

. EERTESCTTET(HESNET SDLIGND

From the following particulars, calculate the cost of running a
taxi per kilometer:

Number of Taxies ‘ iO )

Cost of each Taxi Rs. 2,00,000

Salary of Manager 0 Rs. 6,000 p.m.

Saléry of Accountant ‘ Rs. 5,000 p.m.“

Sal’ary' of Cleaner S Rs. 2,000 p.m.

Salary of Mechanic " Rs. 4,006 p.m.

Garage rent Rs. 6,000 p.m.

Insurance premium, ' 5% pa.

Annual tax Rs. 6 000 per taxi ©

Drivers salary ‘Rs. 2, 000 per month per tax1

Rs. 10,000 per taxi

Total life of a taxi is about 2,00,000 kms. A taxi runs in all
3,000 k.m. in a month of which 30% it runs empty. Petrol
consumption is one litre for 10 k.m. at Rs. 18 per htre Oil and
other sundries are Rs. 50 per 100 kms.-

Wemeuand efleurriisear Qarart(®, cum_ams srflen gm HCor B L HEE
O lemaamw sarsd (.

urL_eng sl creranflGeana , 10
@euGairm eur_ma sriler oL ssb ' . 5.2,00,000
CLoeménit sLbLemd . 6,000 g wrssHHE

. 5,000 @ LIs5HHE
. 2,000 @@ wrEsHHE
4,000 g5 LISSHHEG
. 6.000 g LIEEHHE

o gellwimen(md&smen FLDLIGTD
L(LPGILMTLILITGTIT SLDLIETLD

Quin cueting. Qs g6 euTL_ena

&S pevaniotb BTHES 5%

S ye@m@ el : . 6,000 g ma%rqé;@
@L (Hanit sbuaTd ' - 2,000 e@m mmq_a;@
B® LIEdEHE

LSILMITL (T HEES) - 10,000 g(m mc&wq.é;@
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2.

@@ Hmw &L LenLILITETTSET Ldams s L eblILGSTar @ULIHSSMmS
ALl S ssomer 5. 18,40,000 m . 20,00,000 &g
Cop@srardng. parh @mHudepr Smwid m. 7,20,000 QupmicTarg.
Qg 90% emerpefliy Q_mﬂd_lrra; @@ D. gﬁlmmm(j),rb Geusna
sreTpafEELILL TS @. - 20,000. Gereumn.  Gseeyser
.Gmtj)a;Qa;rrmmuul_l_gu ' L .

epeldurmeTser - 2, 00, 000
2 enLpliLy e 5,00,000
QUi 5. 40,000

gpelICureraer @p.10; 000 5@ G| un‘é,]a;a;uuu_g Qum. LS@ 25%
' (Sgu_umrrmmrra; a;@guu@eﬂg)gj .

RUUBS samdams swifés Cugibd Geru g,l.L a;mrre;eﬂm aHSs
Qamerer Geusmrig. @G\)nug,mg,um a;rn.q.@a; '

From the following information, prepare process account normal ,
. loss, abnormal loss or abnormal gain accounts: .

‘ _ Process ARs) - Process B.(Rs)
Materials - « 30,000 3,000
Labour _ 10,000 12,000
Overheads : : 7,000 - 8,600
Input (units) - . . ’ 20,000‘ . 17, 500
Normal loss ‘ ; s C10% - 4%
Sales of waste per unit (Rs) . ) -' 1 N 2
Final output from process B (units) =) 17,000

Qemaumd efleuprigzaner. QEram®, Ui pann Somd@ FTSTIeRT BLL
ETES, SNSTHTTET BHILLD a{ma)g,l SDIFTSTTT ST G600 @ EEDET
swmt Qals. - -
Process A (Rs) Process B (Rs)

apoLIdunETEeT 30,000 . 3,000
2 anpliLy ' ) ' 10,000 12,000
CupQswaser ¢ 7,000 . 8,600
2 1l (SlaEaRd) ) ' 20,000 17,500
SMEAYeRT pLL LD =} 10% - 4%
eSanngeiicn cllpLener @ i (@5) ‘1 . 2
ugapep B ér Qmd Qeuals® (iw@saiian) - © 17,000
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16.

&G Ga;rr@a;a;uut.@mm aﬁ]mgma;mm Qsmesr(® @uupg, SEMEHENE HUITIT
Qawis ’

gbanguileh Gurr'r_éja‘shu, epeIGummer ° . 1,600 .

ALafledpig Ceaelil L. apeliQuigperser . 500
HLEEES g‘,]@luﬁlu_l epLiQurmeTSeT . 240
el R 2,440
Gpiig Qém)m'a;eir <l fe! e 294

(Sg,ulq. anaS‘luEﬂcu 25% Qsmfpsrena Q&mmasmrr@'u) e
s Qenalli 10% Sigieuas Q&mm&mn@m
@uupg, aﬁ]ana) . 6. 000

From the fo]_lowmg information you are requlred to prepare
process account:

Matekial consumed <" Rs. 12,000

Direct Labour = Rs. 14,000
Manufacturing expenses ' " Rs. 4,000
Input process A (10,000 uﬁifa) Rs. 10,000
Output (_9,460 units) i '

Value of normal wastage Rs. 8 per 100 units.

Qeroumd efeupriszener Qamam® Li.(pen SauwsE@ SWLMM&Es 2 bemin

Camrliu@&ng.

LLETLOSBILL L apali@Unmet . 12,000
Gy 2_enipliL _ ¢5. 14,000
g;U.JlTIﬂI;IL] Qewajmer - ‘ em. 4,000

2 araf® Lilg apenp A— ) (10000 Sw@ser) o5 10,000

- Qaeueflui@ 9400 éqa)@a;m

ST GTTEwT ‘@@Dq wélliy geu@aeumm, 100 @sErsELD @p. 8.
State the _advantages of operatirlg costing.
Buiss oiLEseNwIedan BaTELOSEMET Sagis.
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17.

18.

19.

20.

From the following data calculate:

(a) P/V ratio

®) Profit
Sales Rs. 20,000
Fixed expenses Rs. 4,000
Breakeven pomt Rs. 10,000

ﬁ]mw@m aﬁ]a.uyrma;mm Qame(h sewrad ()

(1) @ooru erey-eNflgLd

(=) Qoomiid.
afpuemen . 20,000
Heavowrear Gsewaysar - .@. 4,000

@eomru BLL DD LjeTer m. 10,000
Explain the different factors to be cons1dered thle takmg a
‘Make or Buy’ decision.
‘Bufliy Sdeg ambiEse' GFGN[D Y a@uug,g)@ ©_GRrL_rmest
ueGeumy SITT6wT| SEn afleu. ‘
Mention the recording procedure for different costs relating to a
contract. : L
@uu(r_r,g,g,'é,lsu voGaum L &S Q&a)eqa;men udey Qer-u_lmg,gpa;rrccr
BenL_(penpaaer GOILILAH\s.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

The following are the particulars for production of 1,500 wheels
in the month of January 2010 in workshop ‘P’ of Southern Auto
Parts Ltd. .

Rs.
Cost of materials 1,20,000
Salaries i X 90,000
Wages 1,80,000
Factory expenses 75,000
Rent, rates and insurance 15,000
Selling expenses 45,000
4 60147/BPZ6A/

BPF6B/BPG6B

=i

21.

It is ascertained that salaries and rent, rates and taxes are
incurred approximately in, the'ratio of 2 : 1 in the factory and
office. It is customary to charge profit at 20% on sales.

Prepare a statement ~show1_ng unit cost and the total cost of the
product for the month and the profit for the period

e <2 GLT L6 eﬁ]Lﬁ]Ql_Lq.an g,u_urnﬂuq e P— e 12010 geraull
WrasSHasmen 1500 sHsTRIsmT 2 DG QelieuspaTer eflaupmnisd
G ereumLompy.

Rs.
@peuﬂ@urr@dr L&D . 1,20,000
FIDLIGTHRIGET = 90,JQOO
FaGeT 1,80,000
e Ceaweyser 75,000

aum_as, oSt pmid smuSE 15,000
apuener Geweyser - ) 45,000

FOUGTD, DMID eum_end aigmiser Hmb aiflser sgrefwns 2:1 erenp
dldlssdler e wHHID SWISSSD Qe LReugns e B

LHApg. eflhuemen Bg 20% GeTubd eupssions sarsdLLILGADS.
, I0Eg ILsslamomu &1 b 2démaemi swumi @&lis. wHoiD
- wrggdlnarer Qurpailen QMEs oL &&b WHHID @Lr_r,g) a;rrcugﬁgnasnm

Barusms a;m.@a;

A company of builders undertook a contract a multistroyed
structure for - Rs. 20,00,000, estimating the cost to be
Rs. 18,40,000. At the end of the year the company had received
Rs. 7,20,000 being 90% of work certified. Work done, but not
certified was Rs. 20,000. The following expenses were incurred:

Materials Rs. 2,00,000
Labour Rs. 5,00,000
Plant Rs. 40,000

Materials costing Rs 10,000 were damaged Plant is cons1dered
as'having depreciated at 25%

Prepare contract account and show . the profit that. can be

reasonably taken to profit and loss account.
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